VOCQS

Vocas Systems b.v. info@vocas.com www.vocas.com
Shoulder support for 15mm rails exploded

0370-0001
Version Date: 14-6-2012 9:38

1

OO ~NO O WN

e
= O

PR R R PR R
~NOoO U WN

04.030.01
04.031.01
04.032.01
767001
739001
09.015.01
09.016.01
09.026.01
04.037.01
04.036.01
749001
09.040.01
04.035.01
04.033.01
04.034.01
04.038.01
0350-9350

Item No. Part Number Oty

1

NFRPNRPRPNRRPRRPEREPNNDRR

=
o

2

Description
Shoulder support rubber
Shoulder support frame
Shoulder support bracket
Screw M4x12 DIN 912 A2 70
Cupsprina M4X0,3 DIN2093 RVS
Winaed nut hexaaqonal
Nut M4 for winaed nut hexaaonal
Spring 6,5x5,5xL.10
Screw M4x25 din 965 A2
Screw M4x6 DIN 912 A2 70
Rina M4 BLGEST-MN
Kipp winged nut M6 int. X 40 bla...
Rina DIN 9021A 6,4X18 ZnZ
Screw slot bolt M6x100 DIN603 ...
Rina BLGEST 8.5 ZnZ
Screw 2,9x9.5 DIN7982 ST ZN Z
Pipe 350 mm. Assy

Pag: 1/1



